"'i:.' "

1. The Kandla port is lﬂcated in the

state of
(A) West Bengal (B) Maharastra
(C) Odisha (D) Gujarat

(E) Not attempted

2. What is a graph in C ?
(A) A visual representation of data
(B) A collection of nodes ‘{EE
(C) A mathematical formula “e:f.
: ElﬁIEI
(D) A programming language

(E) Not attempted

3. Mohinder ploughs a field in 6 days and
Ram ploughs the same field in 12 days.
How long both of them take to plough
the same field wnrlung together ?

(A) 4 days

(B) S days

(C) 3 days

{D) 3.5 days

(E) Not attempted

4. Which bodystarted first radio
broadcasting in India in 1923 ?

(A) Radio Club of Bombay
(B) Radio Club of Madras
(C) Radio Club of Kolkata
(D) Radio Club of Delhi
(E) Not attempted

5. This pressure belt is also calied as
‘Horse Latitudes’

(A) Sub-tropical high pressure belt
(B) Equatorial low pressure belt
(C) Polar high pressure belt

(D) Sub-polar low pressure belt

(E) Not attempted
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1. Fea SR et d fRE 2 7

(A) Ui2@m e (B) HERIS
(C) aifem AD) TSId
(E) A9

2. CH UG 1 g1 8 ?
__{A) 221 1 Tergparer e
(B) ISH I TIE
(C) TIfoTa T g3
(D) Wsh JIUTIT HTHT
(E) 3T9aTid

3. THIfget © ©a ! 6 o7 | SAaar g 3R 1A
It @a &t 12 feq ¥ Sidqar 2 | gF1 et
aﬁéaaﬁﬁhﬁﬁmmwﬁ%% ?

_AA) 4 T -/:z:ff
e

M =6

Rr!z

4. 192*-3ﬁwnﬁﬁ¥m‘rqsﬁ%%zﬁw%e
AT 3 IE foRam o 7
(A) e g9 3T =i -
(B)i‘%ﬁrmmm
'I'E]:‘wa%%ﬁaﬂamﬁm
(D)%I%’a‘twamﬁ“ﬁ
(E) TSTid i

5. TH T & G JEw oft wwy ey
A ITEHfCEH 3= qame A A
(B) Hed T Frt qama Tt A
(C) T 3= a9 ot &y
(D) 39yt fet gy ey &

(E) T9Tida
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6.

10.

Which of the following is the name of
Brahmaputra river in Tibet ?

(B) Tsang Po
(D) Sundari

(A) Jamuna
(C) Sonaa
(E) Not attempted

Which keyword is used to define a
tagged structure in C ?

(A) struct
(B) typedef

(C) union
(D) enum
(E) Not attempted

Hawa Singh won the Asian Games
gold medal in consecutive editions of
the games in the 1966 and 1970 for
which of the following games ?

(A) Weight lifting (B) Boxing
(C) Running (D) Badminton
(E) Not attempted

What is Project Haryali ?

(A) Drip Irrigation Project

(B) Watershed Development Project
(C) Forest Cover Improvement Project
(D) Western Ghat Protection Project

(E) Not attempted

A train 375 m long takes 30 seconds
to cross a pole. Find the speed of the

-train in kilometer per hour.

(A) 45 km /hr
(B) 44 km/hr
(C) 46 km /hr sl
(D) None of these EY[E

(E) Not attempted
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6. Frema i wemgd 741 1 AW Frefafea o 1

HHA-AT B ? |

(A) T 4B) =
(C) BT (D) Fett
(E) 3TsETiad

7. i ¥ T TFR H o T F
fore forg g 1 v foRam ST @ 7
({A] struct
(B) typedef

¥ el (C) union

e

8. 7 fig 3 frafafad @ fora @« 7 1966
3k 1970 T Hiys dehEl § TRAE @
Ul 9geh Sl ?

(A) T HerehaTall
(C) dr (D) deffea
(E) SAvmiéd

9, B YRGS F1 8 ?
(A) feu fa=ms afersEn
(B) aewIs fearshma qREISHT
€] T TR0 R ST
(D) qﬁarﬁmquﬁa‘tm
(E) 3T9TRId

10. 375 HiT @ TH el Th @Y & IR
FA § 30 Yehe &1 0T Adl & | Tenmst 6l

e ferediex ufe w2 # mﬁ@u
LA 45 Ferft /e ﬁi}(-—ﬂ

(B) 44 fepft/aen ,5»

(C) 46 Tt /e

(D) $7H & I3 T

(E) ITuaméad
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11. A number series with one term ITl 8

jon to
is given. Choose the correct optio

complete the series.
20, 19, 17, 2, 10, 5

(A) 12
(B) 13
(C) 14
(D) 15
(E) Not attempted

12. Which of the following is known as
‘Fruit Bowl’ of India ?

(A) Madhya Pradesh
(B) Uttar Pradesh

(C) Himachal Pradesh
(D) Orissa

(E) Not attempted

el
H [=]
13. If the letters of the word
BOMBARDMENT are arranged in
alphabetical order, then how many
letters will remain in the same

- )

L]
2

(=]

position ?
(A) O (B) 3
(C) 2 (D) 1

(E) Not attempted

14. National Botanical Research Institute
is located at

(A) New Delhi

(B) Bangalore

(C) Chennai

(D) Lucknow

(E) Not attempted

15. Which of the following is a logical
bitwise operator ?

(A) *
(C) &

(B) /
(D) +

(E) Not attempted
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11. U e e 41 1 2, frmd v o

Wgﬁqjl-* =%

20, 19, 17, ?, 10, 5

(A) 12

(B) 13

e 14

(D) 15

(E) 319 3Téa

12. F=faflga d 4 fea ara &1 “Sai =
HE gl AT 8 7
(A) AT Y
(B) 3T Jeu
Lt€) fearaet geu
(D) 3ian
(E) 3Ty

AB RBDEMY g 2T

13. 3l e BOMBARDMENT & &0 &)
UTTSHA ST ST of e 3781 &1 wn
T TR 7
(A) O (B) 3
(C) 2 ) 1
(E) 3uaiiaa

14. TSH 99eqfa gyH geum g 2

g T feeeh
(B) &R
(C) ==§
(D) @43 s
(E) 3ryaifira o s

15. 9 3 & -1 wifiere fear
IR B 7 |
A > - LB /

(C) & (D) + x
(E) 3Tsarféa
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16.

17.

18.

19.

20,

The angle of depression of an object
from a tower of height 150 m is 30°. The
distance of the object from tower is

(A) 504/3m
(B) 100V3m

(C) 1504/3m

(D) None of these
(E) Not attempted

What percentage of rural consumer’s
income is spent on groceries ?

(A) 10%
(B) 45%
(C) 62%
(D) 27%
(E) Not attempted

Which of the following company is
launched Shagun-Gift an insurance
policy ?

(A) LIC

(B) ICICI Life Insurance

(C) SBI General Insurance
(D) TATA General Insurance
(E) Not attempted

Complete the following series.

BV, CU, ES, HP, LL, QG,

(A) VB (B) WB
(C) WA (D} VC
(E) Not attempted

B

What does TTL stands for ?
(A) Transistor Timing Logic
(B) Transistor-Tuned Logic
(C) Transistor-Transistor Level

|4P] Transistor-Transistor Logic
(E) Not attempted
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16. 15011’1‘&@'@31?[@@71“%4@“
AT IO 30° B | T H W gl
B 7

(A) 50+/3 HIZX

(B) 100+/3 HIEX

17, IO ST ot 3 1 TR Sfard
fpm % g W@ Bl 8 7
(A) 10%
(B) 45%
(C) 62%
UD) 27%
(E) 9T

18. Trefafiga # @ feg ol 3 wE-fee
a7 wiferdt <= Al 2 7
(_{AT LIC
(B) ICICI @ISH SAE
(C) SBI 9-d 3¥RH
| (D) TATA S STARH
(E) ST9THd

19. Trafefaa saEer of + |
BV, CU, ES, HP, LL, QG, W
(A) VB (B) WB
\—e] WA (D) VC
(B) 3T9dT™A

20. AT F1 R AY 7§ ?
(A) TR TR Sllsteh
(B) TRA-[S dlleh
(C) ZIREI-TET A
(AD) - wiiereh
(E) ITTiEd
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21.

A series has been given. Choose the
correct option for missing term to
complete the series.

KMS, IP8, GS11, EV14, ?

(A) BX17 (B) BY17
(C) CY18 (D) CY17 E’.?g
(E) Not attempted (=] 5]

22. What is the maximum validity of
Learners Licence in India ?

(A) 6 Months

(B) 3 Months

(C) 1 Year

(D) None of the above

(E) Not attempted
23. Three vertices of a parallelogram are
(1, 3), (2, 0) and (5, 1). Its fourth vertex is

(A) (3, 3) (B) (4, 4)
(C) (4, 0) (D) (0, -4)
(E) Not attempted

24. Which of the following is concerned

with the quantum and frequency of
income receipt of rural people ?

(A) Product Mix

(B) Distribution Mix

(C) Promotion Mix

(D) Price Mix

(E) Not attempted

25. If a man were to sell his hand cart for
< 720, he would loss 25%. What must
be the selling price if he were to gain
25% ?

(A) ¥ 1,000

(C) ¥ 1,300

(E) Not attempted

(B) T 1,200
(D) % 1,400
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21. %’i@wﬁﬂs‘%'mﬁwm%
KMS, IP8, GS11, EV14, 2 C Y 17
(A) BX17 (B) BY17
(C) CY18 D) CY17
(E) Tvafag
22. 9T W oY argdE i st daa
TR 7
AT 6 TR
(B) 3 HEH
(C) 1 a4
(D) 39 | & ¥ 74
(E) 3T5amiyd

23. T | =g & 6= M (1, 3), (2, 0)
HR (5, 1) € | gHeT e 3 == 2 7

zE () (3, 3) (B) (4, 4)
0 (©) (4, 0) (D) (0, -4)
(E) JTyafaa

24, F=fafea § @ =4 gofio & 6 am
ife Bt W 3R gl @ gefud @ 2
(A) Icurg Tz
B8] ferawor fagor
(C) T=R fagor -
(D) Te= o -
(E) 3TSmié

25. 3¢ U Afdd 91 31 T 720§ 9 @1 A
25% h! g1 &t | Ife 3q 25% 1 @
g a1 fasha oo 1 Bt 2
(A) ¥ 1,000 \UB}% 1,200 N\
(C) T 1,300 (D) T 1,400

(¥ scanned with OKEN Scanner



E& CG - CHS24

6. The first newspaper in India n6. M@ H TgEl HHTET T3 fpm s | o=
was introduced by the name CpaT T AT 7
(A) Kesari (A) ¥af
(B) Samachar Darpan (B) THTET 'c{‘frﬂT
(C) The Bengal Gazette %EEI Loy @ UG RIS
(D) Bombay Chronicle El_ﬁ';g (D) ST Shifehed
(E) Not attempted (E) TS
n7. What are the factors influencing Rural | 27. TTHII IqTFAT SHdal CARCIER| HH 91
Consumer Behavior ? T % ?
(A) Environmental Factors (A) TaTEfE Tk
(B) Psychological Factors (B) b EICRIIEERCILED
(C) Cultural Factors (C) W’Fﬂm HH
(D) All of the above W ot
(E) Not attempted (E) TR
08. Which of the followingis direct selection | 28. C ¥ frafafiag & O +H sEEe s
operator in C ? T 2 7
(A) dot(.) (A) STE(.)
(B) comma(,) (B) =hrHI(,)
(C) colon(:) (C) IeH(:)
(D] semicolon(;) I_EI::E:I. D) SHishieH(;)
(E) Not attempted [elz | (E) AT
20. In a certain code, RAIN is written as | 29. T Fif2rd g § RAIN %I 8 $ % 6 foran
8 $ % 6 and MORE is written as STaT & 31 MORE & 7 # 8 @ fer@n
7 # 8 @. How is REMAIN written in STdT & | 39 S8 § REMAIN 1 d
that code ? . o s ?

A) #@7$ %6
B) #@ & $ % 6

A #@73$%6
B #@ & $ % 6

C)7@#$%6 C)7T@#$%6
D) 8@7$ %6 P 8@7$%6
(E) Not attempted (E) ST
7. D

—
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30.

31.

32.

33.

34.

Rajasthan has its High Court (principal
scat) at

(A) Jodhpur

(B) Udaipur

(C) Jaiselmer

(D) None of the above
(E) Not attempted

Which is the capital city of Manipur ? _

(A) Shillong
(C) Silvassa
(E) Not attempted

(B) Imphal
(D) Kavaratti

What is recursion in computer

programming ?

(A) Aloop that repeats a block of
code until a condition is met

(B) A function that calls itself

(C) A process of breaking down
a problem into smaller
subproblems

(D) A way to optimize code for faster
execution

(E) Not attempted

Pick the odd one out.
(A) Just (B) Fair

(C) Equitable (D) Biased [@fE]
(E) Not attempted EIE;%

The discriminant of the quadratic
equation 2x? - 6x - 3 = 0 is

(A) 60
(B) V60 o
(C) 12 | o
(D) V12

(E) Not attempted
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30. TSTEIH 1 o1 =T (V9 ) 5 4

(B) 35T
(C) SAHemT
(D) SwF | & IS 7
(E) 3rvfire

31. TR & AU W BH-TT 2 7
(A) Trerm B) 3FHIA
(C) THeamET (D) Hare
(E) 37991ed

32. et St § R 7 B 2 7

) foheht wrd =t 9t €7 7w o g
e F Th =ATH PI I
[B1£iE] (B) T M S Ge I Fiel T 2
EE2 (C) o wwe F B Iu—gwes i
ares 1 ufspran

33.

34.
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35 kunal walks 10 km towards north.
From there, he walks 6 km towards
south. Then, he walks 3 km towards

~ast. How far and in which direction is
he with respect to the starting point ?

(A) 5 km, West

B) 5 km, North East
(C) 7 km, East

D) 5 km, South West
(E) Not attempted

~ Which ofthe followingis / are Marketing
gtrategy available for Rural Market ?

(A) Promotion Strategies
(B) Product Strategies
(C) Price Strategies

(D) All of the above

(E) Not attempted

_ According to the 2011 Census of India,
which of the following states has a

population density of 17 persons per
sq. km. ?
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Wmaﬁaﬂi 10 fomeft =& 8 | ==l
ﬁagafmﬁafﬁﬁ%ﬂ“lﬁﬁm%ifw
ﬂt@ﬁﬂ3wmalm

ﬁgﬁﬁﬂﬁﬂ%ﬁgﬁﬂmﬁm

3s5.
a7 u}:;

%
E:‘.I
(A) 5 feredt, afam

. (By5 forft, 3T T
() 7 o, o

37. WA I 2011 1 FUET & FEN,
ffefiaa ® 9 fova T=a =1 S
ged 17 SAfaa afq @i fweft 2 7

. (A) fe=r
:;; ﬁlt}:jrr Pradesh (=] 53 (=] () e X
(C) Arunachal Pradesh iEl:: : ey 1 T
(D) Sikkim (D) fafan
(E) Not attempted (E) SmETHd
. Kalaam-e-Nairang is a compilation of | 38, FHeAH-T-AT 21 ferdh 8 s
poetry written by F1 HeheH 2 |
(A) Syed Ghulam Bhik (A) ¥Fg Tam ek
(B) Murari Lal Sharma (B) Huieter IHi
(C) Allama Muhammad Igbal l O AHT HeHE gehdlel
(D) Altaf Hussain Hali | (D) Hedl®h @ﬂ FAGL
(E) Not attempted (E) e
-9.- D
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39. A sum of monev doubles itsell in 4

years at compound interest. It will

amount to 8 times itself at the same

rate of interest is

(A) 18 vears olin!
(B) 12 years ﬁg
(C) 16 years

(D) 24 years
(E) Not attempted
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39, mmmﬁammd-ﬂﬂﬁm
ﬁm?lmm mnm
mﬁﬂﬂﬂ@ﬂﬁ?
(A) 18 T4 3=

AB) 12 74
(C) 16 4
(D) 24 9
(E) 3rrrfig

2 —% 11

40. Pointing towards a boy, Veena said, | 40 =H 29T
he is the son of the only son of my gl mﬂgqaﬁ:nﬁ
grandfather. How is the boy related to e, I A IR F TR R ¥ ¥ 2
Veena ? SH 71 ¥ TR T gafig @ -
(A) Uncle (B) Nephew (A) =TT (B) Wit
(C) Father (D) Brother (C) foan ,J,D’r‘ﬁné ®
(E) Not attempted (E) 3afag
41l. In which year was the India’s First 41. YAT &I TS 34, 3T@H
_ &l 1
National Park, the Hailey National 8 a9 enfug e G
Park, established ? win W
(A) 1930 (B) 1932 LAY 1930 @y 1932
(C) 1936 (D) 1939 (C) 1936 (D) 1939
(E) Not attempted (E) 3rw=nfaq
42. What is the necessary condition for a | 42. 7Ry (3zish) afeq B9 % fou smavws
deadlock to occur ? Id TR 7
(A) Mutual exclusion (A) HEAA RELEONES
(B) Hold and wait (B) Bles Ug A2
(C) No preemption (C) i frurge
(D) All of the above (DY 394 |+t
(E) Not attempted (E) 3751
43. In which year Right to Information 43. %ﬁmmm(mm)aﬂrﬁmm
(RTI) Act came into force ? & ﬂﬁFI'FLEEﬂT?
(A) 2004 (B) 2010 3& (A) 2004 (B) 2010
(C) 2005 (D) 2009 L) 2005 (D) 2009
(E) Not attempted (E) Zrarad
D -10-
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44 what is binary code ? 44, mq’ﬂ m 7 % ! ‘
(A) A system of representing (A) HET-10 Fieh! 1 ITA HH A
' information using base-10 digits =1 ufafafiea & #it vk gored!
B) A system of representing (B) H&I-16 h! i TP FH H=HAT
information using base-16 digits (5] E} =1 ufafifee F03 H v g
(C) A system of representing O Wiell *aa 2 3] : 0 I 1 H EXR Ll
‘nformation using only two digits: =1 gfafafire w03 £ 1
0 and 1 T g
| ' SoTTeA!
A system of representing
) information using alphabetic ' (D) FUTHTEAT Tl 1 IUANT Hh AADM]
characters I =1 wfaffire @ ) v gore
(E)] Not attempted l (E) sronfad
|
45. Manas Tiger Reserve is located in | 45. #AHE RN fere % fem 2
(A] Uttar Pradesh . (A) I )
B) Madhya Pradesh , (B) H¥A [l
(C) Assam ey Aa
D) Kerala . (D) T
(E) Not attempted (E) ATE
46. Tickets numbered from 1 to 25 are | 46. 1 H 25 % FHifHA fehl I TH H1Y He
mixed up together and a ticket is drawn fean sman 2 3R TH foe mqi%_ﬁ; ®q °
2t random. What is the probability | T AT R | HHTEAT ‘% I RACEI RN
that the ticket drawn contains a prime ﬁ T : a 5 3 677, Jrt3 e, it
number ? |E|532 ST HE] - ' 2
2 b7 A) = B
A) 2 B) 55 5 25
9 14
= o] €] = (D) 2
(C) == (D) X _ 25 25
(E) Not attempted (E) 3TSETEd
47. Which function is used to open a 47. A0 FEA S Wad & v fmE weEE
binary file ? 1 ST TR ST 2 7
(A) fopen() (A) fopen(]
(B) open() (BT open()
(C) fread() - g (©) fread)
(D) fwrite() []2 (D) fwrite()
(E) Not attempted | (E) 35ETEd
-11- D
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48. The chromatin that is more densely
packed and stains dark are called as

(A) Heterochromatin

(B) Euchromatic

(C) Chromosomal protein
(D) Homochromatin

E) Not (=] £i[=
(E) Not attempted Eﬁ :

O
49. If4" -4 =48 then n" is equal to
(A) 3 (B) 8
(C) 27 (D) 1

(E) Not attempted

90. Who was the founder of the Asiatic
society ?
(A) Sir Thomas Erle
(B) Sir William Jones
(C) Lord Mount Batten
(D) Lord Charles Rose
(E) Not attempted

S1. Six people A, B, C, D, E and F are

standing in a circle facing the centre. B

1S the immed; ]
.@J & v f];le _ emat'e nmg}}bnur of D and C.
o Immediate neighbour of E and

C.F i:s to the right of D.
Who is the immediate neighbour of A

: [ ]
=
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(C) TS H=ke 27 ~
(D) &7 Iey U
(E) 3mEnfag

S1. BB &Afd A, B, C, D. E 3ik F U g9
¥ g F1 3R 47 F0 @2 & | B, D 3K
C 1 Mehean TSt 2 | A, E 33K ¢ =
ﬁw@xﬁ%m,n%aﬁaﬁt%t

s Aaﬂtpmﬁm‘aﬁn%‘ﬁﬁaﬂq%?
(A) B (B) C (A) B (B) C !
(C) D D) E FlA¢ (C) D 5 £ 2
(E) Not attempted |2 (E) 3rstaa =12 )
| R
S52. This lake of Haryana is a part of &fETon LIS EREIE
Bhatti Wildlife Sanctuary ey e m Gl : a
(A) Brahma Sarovar Lake (A) sT=&T ‘élﬁg:m oF
(B) Karna Lake B) Ui e il
(C) Surajkund Lake \;C))' SR Eﬁﬁﬁ
(D) Badkhal Lake (D) s=@« 3w
(E) Not attempted (E) 3ranfag
D
. -12-
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54.

S55.

56.

which type of register in a Central
processing Unit (CPU) is responsible
for holding the current instruction

being executed ?

(A) Program counter

(B) [nstruction register -

(C) Memory address register
(D) All of the above

(E) Not attempted

A process of face to face interaction
between the salesperson and the
prospective customer is referred as

(A) Personal Selling

(B) Advertisement

(C) Consultative Selling
(D) Transactional Selling
(E) Not attempted

Which of the following is not a product
strategy in Rural Marketing ?

(A) Branding

(B) Packaging

(C) Pricing

(D) After Sales Services
(E) Not attempted

According to population census 2011,
what is the percentage of Literacy in
Haryana ?

(A) 75.6

(B) 78.6

(C) 80.5

(D) None of the.above

(E) Not attempted

18-
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53. aﬁqﬁﬂ%ﬂﬂﬁﬂﬁﬁmaﬁhﬂm
ﬁﬂfaﬂqﬁz(tﬂﬁq)ﬂfeﬁammﬁfw =

54. frgpar 3 Guifed wEeh & &= T -7
e <5t wfHan i 1 @ a1 8
(A) Safeaa fershl
(B) o=t
ey Tl fersht
(D) S-cA FaHl fasht
(E) A9ATEd

s5. 7y fque & Frefefaa 8 8§ SE-H
3T WHIT 981 & 7
(A) SIS
(B) Tehfsm
() He= A

| (Dyfesht & g HaTT
(E) 9T

56. 2011 ! UM % FTAR ERATIN § HI&TA
&1 fawa fhaa1 2 7

((BY75.6

(B) 78.6

(C) 80.5

(D) 3T § | HIs el

(E) 3TSTHd

&5

o
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57. When do we celebrate International

Tnger Day ?
(A) June 29 (B) September 29
(C) July 29 (D) May 29

(E) Not attempted

58. Which of the following king wrote the
book ‘Amuktamalyada’ ?
(A) Akbar
(B) Raja Raja Chola
(C) Krishnadevaraya
(D) Chandragupta Mourya
(E) Not attempted

2

flox X#1
89. Hix)=%x-1" is continuous
S <
at x = 1, then the value of k is
(A) e (B) O
(C) (D) 1

(E) Not attempted

60. What is the population density of
Haryana as per the Census 2011 (in
per square km) ?

(A) 786

(B) 573

(C) 625

(D) None of the above
(E) Not attempted

61. Which of the following is considered
as challenges in Rural Marketing ?

(A) Rich Infrastructure

(B) Poor Literacy Rate

(C) Increase in availability of shops
(D) None of the above

(E) Not attempted

Download from www.MsEducationTv.com

b

CG—CHsm‘.
7. ¥\ i ama feam wa w4
(A) 29 T4 (B) 29 fadan
ey 29 e (D) 29 73
(E) 3rsnfi
58. ﬁnmaﬁﬁ%ﬂwﬁ'w*
q&aeh fordt oft 7
(A) 3THaT
(B) U= TS =i
~AC) f”’lﬁalm
(D) =g #H
(E) 3T9amtaa
logx
59, ?Tﬁf(x]=<x—~1 ’ xi],x=1q'{ﬁ'{'a'[
k ' x=1
2 kFHTOH B
(A) e (B) O
([€) =1 (D) 1
(E) Avamfyd
60. 2011 I FFIVET & FFER BRAT
SEE w9 (vfd i et ) e 2 7
(A) 786
\_{B] 573
(C) 625
(D) 394 | § $I12 7
(E) A9gmad
61. I fauve & Frfefea § & feg
T A6T 8 7
&) TG FAATE gt

B) @ HIERAT o
Bl (C) gFml i Syereuan § iy

224 (D) 39 | § I8 8
E) 3T5amfad
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62.

63.

65.

ankit started walking towards north.
After walking 30 m, he turned towards
eft and walked 40 m. He then turned
left and walked 30 m. He again turned
left and walked 50 m. How far is he

rom his original position ?

(A) SO m
(B) 40 m E] E_
(C) 30 m Eﬁil{%q
(D) 10 m

(E) Not attempted

What is the minimum age for becoming
, member of Rajya Sabha ?

(A) 25 years

(B) 30 years

(C) 35 years

(D) 40 years

(E) Not attempted

Rural demand is generally
(A) Continuous and Regular

(B) Seasonal and Irregular
(C) Permanent and [rregular
(D) Sporadic and Regular

(E) Not attempted

What was the sex ratio (Female per
thousand male) of Haryana as per
2011 census ?

(A) 879

(B) 943

(C) 989

(D) None of the above
(E) Not attempted

64 IO I AT AR R 8 7

CG - CHS24

[J&rﬁiﬂ'{aﬂiﬁaﬁﬁ
B) meHt 3t st

E4mE (©
E:: B (D
(E

et 3 rfEfu
fise-qe 3N fHafa
Iy

65. 2011 & FAMUET & IFER BTN I
T (e &R gEsi ot afEer) @@ A ?

|AT879

(B
(C
(D]

(E
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66.

67.

68.

69.

70.

71.

Which of the following is not a problem
in Rural Markets ?

(A) Low level of literacy

(B) Low per capita income
(C) Well developed market
(D) Logistic problems %F@
(E) Not attempted )=

Who was the first Mughal ruler of
India ?

(A) Akbar

(B) Babur

(C) Humayun

(D) Shah-Jahan
(E) Not attempted

Approximate change in the volume V
of a cube of side x meters caused by
increasing the side by 3% is

(A) 0.09x%°*m3 (B) 0.03xm?

(C) 0.06x*m? (D) 0.04x*m3

(E) Not attempted

Which among the following dance

form of Haryana marks the sowing of
the Rabi crop ?

(A) Ghoomar (B) Jhumar
(C) Lohri (D) Loor
(E) Not attempted

If a+ 1, 3a, 4a + 2 are in Arithmetic
Progression, then the value of @’ is

‘a’ T HH 7T 2

CG - CHS24
66 AT ST & fretferfia & & -6
A 946 2 9
AT T8 1 fiey e
(B) Wi =5fa 31mg
LL) =8t o & famfig amm
(D) T gy
(E) 3tvamfie
67. MWA F1 Ygel qrer vimH 4 A7 7
(A) 3Fhat
LB e
S(C) 7Y
(D) wIME-S7aT
(E) 3vamfyq
68. WS Hl 3% @M W x . % T F HTH
VH & afEgds 2
(A) 0.09%°m® '{BJ 0.03x’m?
(C) 0.06x*m? (D) 0.04x*m?
(E) A9=TTEd
69. fHfafEa # & sf@mn % fFg 39 3 @
61 BHA &1 q=4T AT AT 2 7
(A) T B]
(C) =TEdt (D) T
(E) 3T93TRa

70. A a+ 1, 3a, 4a + 2 GHTR A9f § &, A

?

(A) 0 (B) 2 | (A) 0 - 48) 2
(C) 1 (D) 3 i (C)s L% D)3 ?3¢
(E) Not attempted i (E) :
Where did the Morbi bridge tragedy | 71. W&l Yo &eHT Faf BT ?
occur ?
(A) Kerala (B) Gujarat !EI' E (A) F« | (AB] TS
(C) Uttarakhand (D) Uttar Pradesh |[E2<1 (C) SWU@s (D) 3T wew
(E) Not attempted (E) HIATEA
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Fos people A, B, C, D, E, F and G are

M geven

72.

boot h.

lin€,
following must be true ?

(A) A is first

(B) Bis first

(C) F is sixth

D) F1s seventh
(E) Not attempted

w3, What is the per-capita income of

Haryana (at constant price) as per the

tanding in a single line, facing phone
E is somewhere ahead of F.
There i$ exactly one person standing
petween C and G. D is immediately I
pehind A. F 18 behind both B and
p. If D and C are fourth and fifth in
respectively, then which of the

Economic Survey 2023-24 (Advance

CG - CHS24

* B2 mmerfda A, B, C, D EF ¢ e
dﬁﬂﬁvﬁﬁqmﬁ%nmﬁ@%%m,pﬁ
ﬁmalcﬁta%zﬁﬁﬁmw
sq%@gr?ID,A#aﬁmrﬁéﬁé | F, B
s o 21 % A8 B | 3fe p FH C FE
q’%ﬁaﬁaﬂtw‘mﬁmﬂmﬁ,ﬁﬁﬂ
i § FA-T1 G BT G 7

(A) ATYH &
(B) B YYH @ i
AE) F 931 & a G
(D) Fam@Er 2 »
%g (B) 3rvifaa
E:l

| 73 R e 2023-24 (AW FATTH) F

Estimates) ?
A 7 1,04,550 (A) % 1,04,550
B) % 1,85,490 (B) ¥ 1,85,490
C) ¥ 2,57,840 (C) X 2,57,840
(D) None of the above By 374 H H HIE T
[E) Not attempted | (E) e
74. Forests department of Haryana runs | 74. g™V 1 94 oy o diat 9=
Pheasant Breeding Center in *g JATdl & |
(A) Kurukshetra (B) Bhiwani (A) FHE (B) forari>
(C) Panchkula (D) Pinjore (C) U= Vo REELL
(E) Not attempted (E) Ivada
7S. Which one of the following is not a | 75. T=fafEa & & ®-=n ynfror fagu fiyem
Rural Marketing Mix ? | TR 7
(A) Product (B) Promotion [ g1 (A) ITE - 4B) T=R
(C) Price (D) Package [gas; (C) qea - (D) ¥t
[E) Not attempted (E) TS
-17- D
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76.

77.

78.

79.

The maximum area ol a rectangle
inscribed in the circle

(x + 1)° + [y - 3)? = 64 1S
(A) 64 sq. units

(B) 72 sq. units

(C) 8 sq. units

(D) 128 sq. units

(E) Not attempted

Which of the following state introduced
‘Chirayu Health Insurance’ Scheme
in India ?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Kerala

(D) Haryana

(E) Not attempted

What is the limit of the annual turnover
for MSME-Micro enterprises ?

(A) < 8 crores

(B) < 5 crores

(C) < 10 crores
(D) None of the above
(E) Not attempted

What is the age limit cap for joining
Mukhyamantri Kisan Evam Khetihar
Mazdoor Jeevan Suraksha Yojana in
Haryana ?

(A) 10 years to 60 years

(B) 20 years to 59 years

(C) 15 years to 75 years

(D) None of the above

(E) Not attempted

CG - CHS24

76. T (x + 1)7 + (y - 3)7 = 64 * W #fy
U T u sira 5 wfieran e 2

(A) 64 Tt T3

(8] 61 (8] ‘
O : (D) IZBEIT?E'EF[#

(E) 315t

77. wwa ¥ frefafan & @ fra o=a 3 ‘Fam
e i AT I hl B 7
(A) I T2
(B) HEH WGl
(C) T

(_(By gREmm
(E) 37T

78. UHUGUAS-J&H 3] & 10 14 HREn
Fi Hiar 7= 2 7
(A) < 8 U
(B) < 5%US
ey < 10 U

(D) 394 | H I3 TE
(E) I=faa

79. f@EN ¥ g fFam uE et 5o
e guea Frsn o et 29 % fow o
| &1 2 7

(A) 1099 § 60 T4
. (B) 2099 ¥ 59 99

(C) 15a4 ¥ 75 a9

(D) 39dF ° & Fd TE
(E) 3r9niay
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81.

82.

83.

~isused in the manufacture
of paints and lacquers.
(A) Poly Vinly Chloride (PVC)

(B) Bakelite
(C) Urea formaldehyde resin

(D) Glyptal
(E) Not attempted

Consider the following statements about I
index of Industrial Production (IIP),
Haryana and choose the right option

given below :
1 The IIP is presently being prepared

in the State by the Department of
Economic and Statistical Affairs,

Haryana.
2. The present base year for
calculation of IIP is 2021-22.

(A) Only the statement 1 is correct

(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are
incorrect

(D) Both the statements 1 and 2 are
correct

(E) Not attempted

Which Part of Indian Constitution
deals with the Fundamental Rights ?

(A) Part I (B) Part II

(C) Part III (D) Part IV

(E) Not attempted

The word ‘Cigaritis meghamlaiensis’
is related with

A) Butterfly (B) Tiger Eﬁ
C) Ant (D) Monkey

E) Not attempted
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80, 1 WA 17 3T T A

AR |
(A) teht fammser Femse (feEfie)

Zrq AR R S @ 2
5. iR & T 3 forw A TR a9
2021-22 2 |
(A) Fad A 1 TE 2
(B) Fad HIF 2 FEl &
(C) F2F 1 3R 2 I Ted &
o] HYA 1 3 2 GE A &
(E) TS
82. WA TAYT &1 HIH-FT HIT HifeTh
ferprl @ Hafud 2 7

(B) T II
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84.

85S.

86.

N Lo 1
i!\] i '@

A Z. N. M. O and P are members of a
family. There are two married couples.
N is a curator and the father of O, P
s the son of the daughter of A, who
is a banker. O is the granddaughter
of Z. who is an architect. There are
two unmarried students in the family.
There is one teacher in the family
and banker is her father. Who is the
husband of M ?

(A) P ®@
(B) N

(C) Z

D) A

(E) Not attempted

As per the Pradhan Mantri Fasal Bima
Yojana (PMFBY), how much premium
(in percentage) should be paid by the
farmers for the Kharif and Rabi crops
respectively ?

I:E

(A) 2% and 1.5% I'E (8]
(B) 5% and 2%

(C) 1.5 % and 3%

(D) None of the above

(E) Not attempted

As we go from the equator to the poles,
the value of g

(A) Remains the same

(B) Decreases

(C) Decreases upto a latitude of 45°

(D) Increases

(E) Not attempted

CG - CHS24

84. A Z N, M, 0 3N puF uftan & maey
8 | 3 fanfea 2 # | N v g R ol
O I f4ar 2 | P, A 1 &8 7 #21 2, A
4R R | 0, Zz7H Ut B, W v IfErE
® | gftan ° g sfaanfea o # | ofam
o U e 8 3t o i 2 | M

HUdFHE 7?7 Z
| g

(A) P
ZEEAB) N ™
EME ¢z > 4

|
D) A B
(E) m&ma

85. WUMEA BEe &1 are (frorusdiEs)
% IER, @6 FN i wEEr & fou
feraml gra w9 fepaan sfifoawm (wfaera )
1 Y o s =nfae 2

RS 2% 3N 1.5%
B 5% I 2%
(C) 1.5% 3R 3%

(D) I5F # H s T
(E) TSETEa

86. AH-H B YUY W1 ¥ Yol W IH 3, ¢
F1 qH
(A) THH & 2
LABJ = 2
(C) 45° % HT T Tear
(D) =g &
(E) 3TSfad
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In which year was National Bank for
Agriculture and Rural Development
(NABARD) established 7

(A) 1999

(B) 1982

(C) 2000

(D) None of the above

(E) Not attempted

87.

88. How many pairs of ribs are present in

the human body ?
(A) 10
(B) 11
(C) 12
(D) 13
(E) Not attempted

Haryana State Industrial and
Infrastructure Development
Corporation Limited (HSIIDC) was
established in the year

(A) 1967

(B) 1976

(C) 1982

(D) 1994

‘./ . (E) Not attempted

o

= >

90. Some students line up in a queue in
which Ashish stands 15™ from the left
and Sachin is 17" from the right. If

they interchange their places, Sachin

89.

Download from www.MsEducationTv.com

(C) 2000

(D) ITdE § § IS AL
(E) T9F1iEd

88. W I ® gt & Teha+ F12 a4 3 7

&) 10
%ﬁg(s) 11
=] EI[C) 12

(D) 13
(E) A9TiEd

89. i U=y i va @E=EAT fasm

g fafiee (ueuEaEIEEE) i T
forg = &3 7

(A) 1967

(B) 1976

(C) 1982

_P] 1994
(E) 3I5ETHd

90. FS B Uk hal H @e & f9aH ey =
g 159 ™H W g IR gF g6 § 1749
T W2 | Ife F 3941 TH 96 o, dl
gfed W I 159 T W &M | AR |

o :
e b e L | S e
(A) 21 A) 21 =
B) 22 (B) 22 j&”*
©) 29 Lier29 S
D) None of the above 7 [&] (D) 394 H ¥ I &
E) Not attempted EI%EEI (E) 3TTEd

a1k D
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91.

92.

93.

English Language

Choose the right option 1o form a
meaningful sentence.
was/perfnrmﬁnce/1mpresser:l/wﬂh/
quite/his/I |
(A) His performance was quite

impressed with L

__{B) 1 was quite impressed with his

performance.
(C) l with his perforrmance was quite
impressed.
(D) His performance with | was quite
impressed.
(E) Not attempted

Choose the correct meaning of the
following idiom and expression.

Open secret.
_AA)] Known to all
(B) Of no use
(C) A useless person
(D) Full details
(E) Not attempted

Choose the correct indirect form of the
given word sentence.

He said “who is your father” ?
(A) He asked me who was my father.
(B) He asked me that who is your
father.
) He asked me who my father was.
(D) He asked me who my father is.
(E) Not attempted

94. Choose the correct spelling of the given

95.

word.

devalop.
LAA) develop

(B) davalap

(C) develup

(D) None of the above
(E) Not attempted

CG - CH!

=t v
e 1 e vree
(A) A
(B) ﬁzr—r

96.

S5

(DIERHFI
(E) 3Tmfae

97. HfY % fored g & 7
(A) g
_B) T

(C) =

(D) HT

(E) FuFmfaa
fshan & g1 €9 I
CLAT ET1d

(B) =i

(C) Hc9F

(D) fayfea

(E) 3T9=TEq
[Y' Ieg & &l 31 T 97 FHifC |
(A) g&ft
\AB) ¥&q

(C) Hedl

(D) =8

(E) AT

100. S Hfewng ¥ faer, 37

98.

99,

FEd &

Choose the correct answer after e =
making necessary corrections. I.E! 3 LA4) gt-h
He went there by foot. (B) Ej‘h
AT He went there on foot.
(B) He go there on foot. (C) T=h
(C) He went there in foot. Sﬂa
(D) He went there for foot.~ (D)
(E) Not attempted (E) 3r5miag
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